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Directions: use the clues below to fill in the crossword puzzle with the correct words.

1. This mode of transportation has two
wheels. You can exercise your legs
by riding it.

2. You have to hold up your hand and
shout * ,
this car.

3. This mode of transportation moves on

top of the water.

” to get aride in

1. This mode of transportation is
bigger than a car and a truck,
travels on roads, and can carry 60
people.

2. This mode of transportation is
bigger than a car, but not as big

as a bus. You can put things in
the back of it.

3. This is the most common mode of
transportation. It has four wheels,
travels on roads, and uses gas.

4. This mode of transportation flies
in the air. It has wings, and is
flown by a pilot.



